Of which kind of shoes does Stella have the most?

-

How many does she have?

2. Of which kind of shoes does Stelig have the Ieast? |
How many does she have?

3.

How many boots and high heels does Stella have altogether?

. How Many more sneakers than slippers does Stella have?
5. How many fewer high hegls than boots does Stella have?
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B e _ 4~M~N: lnterpreting data: bar graph
21 o
- Alphabet Soup
(Pages 67 and 68)
1. Cut apart the cards. ,\I\)‘? -
2. Read each card. Look at the graph on ﬂj\

your other page. Sort the cards into two W |
piles: true and false A ‘@1 -

3. Write each letter in the correct bowl on ‘ >
your other page, — %o"i? —)273

There are more
Os than (s,

There are more
Os than Es.

There are 6 Es
in Owl’s bowl,

There are 6 As
in the bowl,

In all, there are 10
Es and Us in the bowl,

Owl found fewer Es
than any other vowel,

There are fewer
Os than Js.

There are 10 Os
in Owl’s bowl.

There are more
Es than As.

There are 2 more
As than Es.

There are more Os
than any other vowel,

There are 8 Es
in Owl’s bowl.

There are 121Is
in Owl’s bowl.

There are fewer
Es than Us,

There are 4 Us
in Owl’'s bowl.

Altogether, there are 14
As and Es in Owl’s bowl.

There are 8 Os
in Owl’s bowl.

There are more Js
than any other vowel,

Owl found fewer Us
than any other vowel,

There are 8 As
in Owl’s bowi.

X Altogether, there are 12
Os and Us in the bowl.







